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2 Fortran [ [

2.1 do while [

do...enddo00000O0OO0OO0ODO0OOODOODOODODODODODODODLDODO
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¢ Newton-Raphson method
implicit real*8 (a-h,o0-z)

epsilon = 1.0 e-10

read(*,*) xnew

x0ld = xnew + 0.1

do while (abs(xnew-xold) > epsilon)
xold=xnew
xnew=xo0ld-f (xo0l1d)/df (x0ld)
write(*,1000) "result=",xnew

end do

write(*,1000) "result=",6xnew

1000 format(a,f20.16)
end
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real*8 function f(x)
implicit real*8 (a-h,o-z)

integer n

=3



f=x**n-n
return

end

real*8 function df(x)
implicit real*8 (a-h,o0-z)

integer n

n=3
df=n*x**(n-1)
return

end
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